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What are you doing?

Common Denominator Improper Fraction

Horseshoe Method

If you change the bottom
*Don't go to Common Denominator

you must change the top.

*Don't go to Improper Fraction
Multipl ivi
Add Subtract Py Divide
Once in common denominator, You can CROSS | NO! Flip the 2nd
add or subtract the tops and SIMPLIFY!!!!!! | fraction to its
leave the bottoms the same. 357 T reciprocal. Then
15 If you need to borrow, 72 X g change the
you borrow the number
20 that is in the ﬁ prOblem to
1 6 denominator. 2 multiplication.
20 7 152;; 20=35 Slmpllfy ﬁSX 5
16 >
1 31 = 420 1 4  HH&
20 2 245 25
Simplif imoli .8 .
1 Y SlmSplgy Simplify
Yy — 1
20 20 3 S
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